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P-BLOCK GROUP 16 ELEMENTS - THE
OXYGEN FAMILY

lllustration

1.SO 2 is reducing while TeO2 is an oxidising agen

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_MgYK0EFLXZ2b
https://dl.doubtnut.com/l/_HwL2FpaCRWHB

2. Elements of Group 16 generally show lower value of
first ionisation enthalpy compared to the

corresponding periods of group 15. Why?

° Watch Video Solution

3. The correct order of relative basic character of

NaOH, Mg(OH), and Al(OH), is

° Watch Video Solution

4. Which of the oxdies behave both as neutral oxide

and suboxide ?

(a) NQO , b. NO, C. 0302 ,d. CcO


https://dl.doubtnut.com/l/_HwL2FpaCRWHB
https://dl.doubtnut.com/l/_2iU6jt3cMRhd
https://dl.doubtnut.com/l/_GiuVEc5ypZtX

° Watch Video Solution

5. Which of the following is not amphoteric oxide ?

o Watch Video Solution

6. Which of the following is superoxide ?

° Watch Video Solution

7. Which of the oxides is coloured and contains 3e ™

bond ?

° Watch Video Solution



https://dl.doubtnut.com/l/_GiuVEc5ypZtX
https://dl.doubtnut.com/l/_p2g3KwzWOkHR
https://dl.doubtnut.com/l/_3tmxN4W5Aeg2
https://dl.doubtnut.com/l/_qcsa7f3rxwRZ

8. Which form of sulphur shows paramagnetic

behaviour ?

° Watch Video Solution

9. Knowing the electron gain enthalpy values for
O — O~ and O — O°~ as —141 and 702kJmol "
respectively, how can you account for the formation of
a large number of oxides having O~ species and not
O7?

(Hint: Consider lattice energy factor in the formation

of compounds).

S |


https://dl.doubtnut.com/l/_qcsa7f3rxwRZ
https://dl.doubtnut.com/l/_MsMEkmF7d0lv
https://dl.doubtnut.com/l/_c9sWGV30H6yH

l & Watch Video Solution J

10. What happens when
(i) Concentrated H5S0, is added to calcium fluoride

(ii) SOz is passed through water?

° Watch Video Solution

11. Give at least one example to explain the following
properties.

(a) Sulphuric acid is a dibasic acid.

(b) Sulphuric acid is a dehydrating agent.

(c) Sulphuric acid is an oxidising agent.

[ ° Wiakrh \lidAaAn CAaliikian



https://dl.doubtnut.com/l/_c9sWGV30H6yH
https://dl.doubtnut.com/l/_hVDJm7jsnXfC
https://dl.doubtnut.com/l/_bBgEMWvDXpOS
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12. How will you obtain the following from sulphuric
acid ?

(a) SO,

(b) SO4

(c) 502 Clz .

o Watch Video Solution

13. Give reason for the following :
(@) Conc. HyS0O, cannot be used for drying Ho.

(b) KMnQO, should not be dissolved in conc. HySO;,.

o Watch Video Solution



https://dl.doubtnut.com/l/_bBgEMWvDXpOS
https://dl.doubtnut.com/l/_YZAixDoJYq6x
https://dl.doubtnut.com/l/_iVZDfIPqiucT

Solved Example

1. State with balanced equation what happens when ?
(@) Potassium ferrocyanide is heated with
conc. HySOy.

(b) A mixture of potassium chlorate, oxalic acid and
sulphuric acid is heated.

(c) Sodium chlorate reacts with sulphur dioxide.

(d) Chlorine gas is passed into water saturated with
hydorgen sulphide.

(e) Hydrogen sulphide is passed through sodium

bisulphite solution.

I ° Wiak~h \lidAanAn CaAliikian



https://dl.doubtnut.com/l/_iVZDfIPqiucT
https://dl.doubtnut.com/l/_36W8prySwxFb
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2. When gas (A) is passed through dry KOH at low
temperature, a deep red coloured compound (B) and
a gas (C) are obtained. The gas (A), on reaction with
but—2 — ene, followed by treatment with Zn /H,O

yields acetaldehyde. Identify (A), (B), and (C).

° Watch Video Solution

3. (@) Sulphur melts form a clear mobile liquid at
119° C but on further heating to 180° C, it becomes

viscous. Why ?


https://dl.doubtnut.com/l/_36W8prySwxFb
https://dl.doubtnut.com/l/_7LiDva41qlF2
https://dl.doubtnut.com/l/_f3jAAfC0OmZ0

(b) SOCI, can act as a weak Lewis acid as well as a

weak Lewis base. Explain.

° Watch Video Solution

4. Concentrated H,S50, is added to the test tubes

containing (a) to (e).

Test tube

a.
b

c.
d

€.

Compounds
Cane sugar
sodium bromide
Copper turnings
Sulphur powder

Potassium chloride

Identify in which of the above test tubes, the following

change will be observed on heating. Also give the

chemical equations involved.

(i) Formation of black substance.


https://dl.doubtnut.com/l/_f3jAAfC0OmZ0
https://dl.doubtnut.com/l/_xDF0ekOM5Nvv

(i) Evolution of brown gas.

(iii) Evolution of colourless gas.

(iv) Formation of brown substance, which on dilution
becomes blue.

(v) Disappearance of yellow powder along with the

evolution of a colourless gas.

° Watch Video Solution

5. A pale yellow substance (A) when heated with
conc. HNOj evolves a brown coloured gas (B). The
substance (A) also dissolves in sodium sulphite
solution on heating. A clear solution (C) is formed

which on acidification gives a turbid solution and a


https://dl.doubtnut.com/l/_xDF0ekOM5Nvv
https://dl.doubtnut.com/l/_Ka0lFXO01gqc

pungent smelled gas (D) which is formed by the
substance (A) in air. The solution (C) decolourises

iodine solution, Identify (A) to (D).

o Watch Video Solution

Ex 3 1Subjective Give Reason

1. Oxygen exists as a gas, while sulphur exists as a solid

Why ?

° Watch Video Solution



https://dl.doubtnut.com/l/_Ka0lFXO01gqc
https://dl.doubtnut.com/l/_CzlyCsHk1UtW

2. Explain

Why H,O is liquid while H,S is gas

° Watch Video Solution

3. Oxygen almost invariably exhibits oxidation state of
— 2 but the other members of family exhibit negative
as well as positive oxidation states of +2, + 4and +6

. Explain.

° Watch Video Solution



https://dl.doubtnut.com/l/_iihNhxzKdJyK
https://dl.doubtnut.com/l/_b6EzYtH4GzVc

4. Account for the following:
Tendency to show -2 oxidation state diminishes from

sulfur to polonium in group 16.

° Watch Video Solution

5.Dry SO, does not bleach dry flowers because

° Watch Video Solution

6. Why conc. H,SO4 cannot be used to dry hydrogen

sulphide ?

° Watch Video Solution



https://dl.doubtnut.com/l/_NuNzgTGjwFSB
https://dl.doubtnut.com/l/_ZpwHShxDqryX
https://dl.doubtnut.com/l/_FJxSLN6tGGM2

7. Why in the manufacture of Hy50, by contact
process, sulphur trioxide is not directly dissolved in

water ?

o Watch Video Solution

8. Sulphuric acid has high boiling point and viscosity.

Why ?

° Watch Video Solution



https://dl.doubtnut.com/l/_FJxSLN6tGGM2
https://dl.doubtnut.com/l/_yoNuZ39Bl3h9
https://dl.doubtnut.com/l/_UUSTMJeSZ45p

9. An aqueous solution of a gas (X) gives the
following reactions :

(a) It decolourises an acidified K,Cr,0O7 solution.

(b) On boiling with Hy0O5, cooling it and then adding
an aqueous solution of BaCls,, a precipitate insoluble
in conc. HCl is obtained.

(c) On passing H5S in the solution, white turbidity is
obtained.

Identify (X)) and give equations for steps (a), (b) and

(¢)-

° Watch Video Solution



https://dl.doubtnut.com/l/_oaY8lgenvW2E

10. An inorganic halide (A) reacts with water to form
two acids (B) and (c). (A) also reacts with NaOH to
form two salts (D) and (E) which remain in solution.
The solution gives white precipitate with both AgINO;
and BaCl, solutions respectively. (A) is a useful

organic reagent. Identify (A) to (E).

° Watch Video Solution

11. Name the following compounds :
Oxides of sulphur:
(i) S0

(i) S, O3


https://dl.doubtnut.com/l/_YnVmaXOogchH
https://dl.doubtnut.com/l/_xpKwgKZGg7M2

(iii) SOy

(iv) S5 0.

(b) Oxyacids of sulphur:

(i) HySO,

(i) HyS03

(iii) HyS504

(iv) HyS504

(v) HyS50:s.

(c) Sulphuric acid : (i) H5S5503
(i) H2 5207

(d) Thionic acids : (i) H3.55,0¢
(i) H5(S5),,06

( e) Peroxo acids : (i) H,SOs

(i) HyS50%s.

I ° Wiakrh \liAdAaAn Caliikian
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12. Explain the following :
An acidified KsCr,O; paper turns green when

exposed to SOs.

° Watch Video Solution

13. What happens when :
Ozone is passed through acidified stannous chloride

solution.

° Watch Video Solution



https://dl.doubtnut.com/l/_xpKwgKZGg7M2
https://dl.doubtnut.com/l/_dd7jio8V2xFh
https://dl.doubtnut.com/l/_xVDbjybqwQ1V

14. When sulphur is boiled is boiled with NayS03, a
compound (X) is produced, (X) with excess of
AgNOs solution gives a compound (Y) which is

soluble in water and produces a black coloured

sulphide (Z). Identify compounds (X), (Y) and (2).

o Watch Video Solution

Ex 3 1 Objective Choose The Correct Option

1. An organic acid (A) reacts with concentrated

H,S0, to give a neutral oxide (B), acidic oxide (c)

and a diatomic oxide (D). When (D) reacts with


https://dl.doubtnut.com/l/_h1d8J2hK0vBk
https://dl.doubtnut.com/l/_lpMJcRPtpB9j

chlorine gas, a poisonous gas (E) is evolved. This gasw

with ammonia gives an organic compound (F). The
compound (A) and (F) are.

A. (A) = H20204 and NHQCONH2

C. (A) = CHCl3 and (F) = H20204

D.(A) = CCly and (F) = CH;CHO.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_lpMJcRPtpB9j

2. Componds (A) and B are treated with dilute HCI
separately. The gases liberated are Y and Z
respectively. Y turns acidified K,C'r90; paper green
while Z turns lead acetate paper black. The
compounds A and B are respectively :

A. Na25 and NCL2503

B. NG,QSO3 and NCLQS

C. NaCl and NayCOs

D. NCLQSO?, and NCLQSO4

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_VvzBirv1efyP

3. A yellow coloured crystalline substance gave a
colourless gas X on reaction with fluorine, which is
thermally stable and has octahedral geometry. X can
be

A.SEy

B. Sze

C. SEy

D. S, F

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_xWXo3aLkf2uE
https://dl.doubtnut.com/l/_PoFMtmFefxh8

4. A green coloured solution of a salt changes its
colour to light pink on passing ozone through it.
Which of the following species represent pink and
green colour respectively.

A. Mn** and MnO,

B. MnO, and MnO?~

C.Co’tT and Co® ™

D. MnOi_ and anO4e

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_PoFMtmFefxh8

5. concentrated H,50, can be used to dry which gas ?

A.Hy,S

B.CO,

C. NH,

D. All

Answer: B

° Watch Video Solution

6. Sulphur on reaction with concentrated HNQO3. Gives

(A) which reacts with reacts with NaOH gives


https://dl.doubtnut.com/l/_xOAPMT1a6gad
https://dl.doubtnut.com/l/_YgEQKqF3Shha

(B). (A) and (B) are

A. H2503, NCL2S203
B. N02, N(LQS
C. HQSO4, NCLQSO4

D. H25203, NG,QSQOg

Answer: C

° Watch Video Solution

7. The formation of which of the substance is known as

tailing of mercury ?

A. HggO


https://dl.doubtnut.com/l/_YgEQKqF3Shha
https://dl.doubtnut.com/l/_LjPZxw3sn25n

B. HgO
C. Hg(NO;3),

D. HgS

Answer: A

° Watch Video Solution

8. Which of the following elements form pm — dnm

bonding in its oxide ?

A. Lithium

B. Boron

C. Sulphur


https://dl.doubtnut.com/l/_LjPZxw3sn25n
https://dl.doubtnut.com/l/_hZzIqaL7NFT8

D. Nitrogen

Answer: C

o Watch Video Solution

9. In which of the following species, S-atom assumes
sp° hybrid state ?

() (SO3),

(1 (S0,) ,

(1 (H2S),

(IV) (Sg).

AT, IT


https://dl.doubtnut.com/l/_hZzIqaL7NFT8
https://dl.doubtnut.com/l/_kf8yZ41YuhkQ

B. IT, IIT

C.II, IV

D.III, IV

Answer: D

° Watch Video Solution

10. Which of the following reaction depicts the
oxidsing behaviour of HyS0,?

A.2HI + HQSO4 — I2 + 802 + 2H2O

B. CG(OH)2 + Hy50, — CaSO4 + 2H50


https://dl.doubtnut.com/l/_kf8yZ41YuhkQ
https://dl.doubtnut.com/l/_OPh1Lfwqg9uw

2PCls + Hy,SO4 — 2POCI3 + 2HCI + SO,Cl,

Answer: A

° Watch Video Solution

11. Complete the following equations :

(i)

(NHy),5,08 + HyO + MnSOy — ... + ... + ...
Heat

(i) S + HySOy4(conc, ) — ..... + Hy0

(iii) I, + SO, + H,O — SO~ +..... + H®

(IV) I2 + 03 + HzO — HIO3 + .....


https://dl.doubtnut.com/l/_OPh1Lfwqg9uw
https://dl.doubtnut.com/l/_TujyIxhShv43

(v) Cry02~ + H® 4+ 80, — SO2™ + Hy,O + .....

o Watch Video Solution

Exercises Linked Comprehension

1. H,50, is the most important acid used in the

chemical industry. Concentrated H,SO, has quite
strong oxidising properties.
H,;50, acts as.

A. Reducing agent

B. Oxidising agent


https://dl.doubtnut.com/l/_TujyIxhShv43
https://dl.doubtnut.com/l/_57JonVntGNkk

C. Only monobasic acid

D. None of these

Answer: B

° Watch Video Solution

2. H,50, is the most important acid used in the
chemical industry. Concentrated H,S0, has quite
strong oxidising properties.

The shape of Hy SOy is

A. Tetrahedral

B. Pyramidal


https://dl.doubtnut.com/l/_57JonVntGNkk
https://dl.doubtnut.com/l/_QvQhbqt8vYi9

C. Plannar

D. T-shaped

Answer: A

° Watch Video Solution

3. H,50, is the most important acid used in the
chemical industry. Concentrated H,S0, has quite
strong oxidising properties.

Oxidation state of S'in H,SOy is

A +6

B. +4


https://dl.doubtnut.com/l/_QvQhbqt8vYi9
https://dl.doubtnut.com/l/_DI6VFlkeBdK4

C.+2

D. +3

Answer: A

° Watch Video Solution

4. Hydrogen peroxide is an important compound of
hydrogen and oxygen. It shows various types of
properties and chemical reactions.

Hydrogen peroxide is not

A. Areducing agent

B. An oxidising agent


https://dl.doubtnut.com/l/_DI6VFlkeBdK4
https://dl.doubtnut.com/l/_2idzNP2XEdwB

C. Adehydrating agent

D. Ableaching agent

Answer: C

° Watch Video Solution

5. Hydrogen peroxide is an important compound of
hydrogen and oxygen. It shows various types of
properties and chemical reactions.

The reaction HyS + HyO5 — S + 2H,0 manifests.

A. Acidic nature of H,O,

B. Alkaline nature of H,O,


https://dl.doubtnut.com/l/_2idzNP2XEdwB
https://dl.doubtnut.com/l/_ltIFHNsDOca3

C. Oxidising action of H,O,

D. Reducing nature of H50O,

Answer: A

° Watch Video Solution

6. Hydrogen peroxide is an important compound of
hydrogen and oxygen. It shows various types of
properties and chemical reactions.

The species that do not contain peroxide ion

(s)is/are.

A. PbO,


https://dl.doubtnut.com/l/_ltIFHNsDOca3
https://dl.doubtnut.com/l/_Z6J4Lsw8J1oV

B. S’T’Oz

C. Na202

D. Ba02

Answer: A

° Watch Video Solution

7. Hydrogen peroxide is an important compound of
hydrogen and oxygen. It shows various types of
properties and chemical reactions.

The oxidation state of oxygen in HyOs is.

A +1


https://dl.doubtnut.com/l/_Z6J4Lsw8J1oV
https://dl.doubtnut.com/l/_tgIWItOm2LOj

Answer: B

° Watch Video Solution

8. Sulphuric acid is considered as the king of chemicals.
The prosperity of any country is measured by the
amount of sulphuric acid it consumes. Sulphuric acid
is, thus, a substance of very great commercial
importance as it used practically ine every important

industry. This is due to the following properties of


https://dl.doubtnut.com/l/_tgIWItOm2LOj
https://dl.doubtnut.com/l/_j6gOaV61dFAT

sulphuric acid :

(a) acidic nature

(b) oxidising nature

(c) dehydrating nature

(d) sulphonation.

Sulphuric acid has very corresive action on skin

because

A. It reacts with proteins

B. It acts as an oxidising agent

C. It acts as a dehydrating agent

D. It acts as a dehydrating agent and absorption of

water is highly exothermic.


https://dl.doubtnut.com/l/_j6gOaV61dFAT

Answer: D

° Watch Video Solution

9. Sulphuric acid is considered as the king of chemicals.
The prosperity of any country is measured by the
amount of sulphuric acid it consumes. Sulphuric acid
is, thus, a substance of very great commercial
importance as it used practically ine every important
industry. This is due to the following properties of
sulphuric acid :

(a) acidic nature

(b) oxidising nature

(c) dehydrating nature


https://dl.doubtnut.com/l/_j6gOaV61dFAT
https://dl.doubtnut.com/l/_AHAjkY6yhUK0

(d) sulphonation.
Which of the following reactions depict the oxidising

behaviour of H3,50, ?

A.2HT + HQSO4 — IQ + SOQ + 2H20

B. NaCl 4+ Hy504, — NaHSO4 + HCI

C.2NaOH + H2SO4 — NG,QSO4 + 2H20

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_AHAjkY6yhUK0

10. Sulphuric acid is considered as the king of
chemicals. The prosperity of any country is measured
by the amount of sulphuric acid it consumes. Sulphuric
acid is, thus, a substance of very great commercial
importance as it used practically ine every important
industry. This is due to the following properties of
sulphuric acid :

(a) acidic nature

(b) oxidising nature

(c) dehydrating nature

(d) sulphonation.

Sulphuric acid is used.

A. In lead storage batteries


https://dl.doubtnut.com/l/_VTBN8XJlInir

B. In making fertilizers

C. In making explosives

D. All of these

Answer: D

° Watch Video Solution

11. Sulphuric acid is considered as the king of
chemicals. The prosperity of any country is measured
by the amount of sulphuric acid it consumes. Sulphuric
acid is, thus, a substance of very great commercial
importance as it used practically ine every important

industry. This is due to the following properties of


https://dl.doubtnut.com/l/_VTBN8XJlInir
https://dl.doubtnut.com/l/_VB5X4O8qAsqq

sulphuric acid :

(a) acidic nature

(b) oxidising nature

(c) dehydrating nature

(d) sulphonation.

Concentrated Hy50, cannot be used to prepare HBr

or HI from K Br or K1 because it.

A. Reacts too slowly with K Br or K1.

B. Reducing HBr or HI

C. Oxidising HBr or HI

D. Oxidises KBr or KBrOs or KIto K104

Answer: C



https://dl.doubtnut.com/l/_VB5X4O8qAsqq
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12. Sulphuric acid is considered as the king of
chemicals. The prosperity of any country is measured
by the amount of sulphuric acid it consumes. Sulphuric
acid is, thus, a substance of very great commercial
importance as it used practically ine every important
industry. This is due to the following properties of
sulphuric acid :

(a) acidic nature

(b) oxidising nature

(c) dehydrating nature

(d) sulphonation.


https://dl.doubtnut.com/l/_VB5X4O8qAsqq
https://dl.doubtnut.com/l/_AJZyFLraxBcH

only carbon is obtained when concentrated HyS0;, is

added to

A. Formic acid

B. Cane sugar

C. Oxalic acid

D. Ethyl alcohol

Answer: B

o Watch Video Solution

13. Sulphuric acid is considered as the king of

chemicals. The prosperity of any country is measured


https://dl.doubtnut.com/l/_AJZyFLraxBcH
https://dl.doubtnut.com/l/_GrDNngNP5n6y

by the amount of sulphuric acid it consumes. Sulphuric
acid is, thus, a substance of very great commercial
importance as it used practically ine every important
industry. This is due to the following properties of
sulphuric acid :

(a) acidic nature

(b) oxidising nature

(c) dehydrating nature

(d) sulphonation.

The formation of nitroglycerine is done by the use of
concentrated nitric acid and concentrated sulphuric
acid. The process of conversion of glycerine into

nitroglycerine is termed as.

A. Sulphonation


https://dl.doubtnut.com/l/_GrDNngNP5n6y

B. Oxidation

C. Nitration

D. Dehydration

Answer: C

° Watch Video Solution

14. The binary compounds of oxygen with other
elements are called oxides. They are classified
depending either upon their acid-base characteristics
or on the basis of oxygen content.

(a) Normal oxides : These oxides which contain oxygen

atom as permitted by the normal oxidation number,


https://dl.doubtnut.com/l/_GrDNngNP5n6y
https://dl.doubtnut.com/l/_RV8WpfiGDM8U

i.e.,, —2 normal oxide may be acidic, basic, amphoteric
or neutral.

(b) Polyoxides : The oxides which contain oxygen
atoms different than those permitted by the normal
oxidation number of — 2.

(i) Peroxides : Two oxygen atoms are linked to each
other and oxyegen has —1 oxidation number. They
contain (O — 0)°~ unit.

(i) Superoxodes : These oxides contain (O — O) !
unit, i.e,, each O-atom has oxidation number —1 /2.

(c) Suboxides : These contain low content of oxygen
than expected.

(d) Mixed oxides : These oxides are made of two
simpler oxides.

Which pair of species is referred to as suboxides ?


https://dl.doubtnut.com/l/_RV8WpfiGDM8U

A.CO, NO

B. SOQ, CaO

C. N,O, CO

D. N2O, C30,

Answer: D

° Watch Video Solution

15. The binary compounds of oxygen with other
elements are called oxides. They are classified
depending either upon their acid-base characteristics
or on the basis of oxygen content.

(a) Normal oxides : These oxides which contain oxygen


https://dl.doubtnut.com/l/_RV8WpfiGDM8U
https://dl.doubtnut.com/l/_KJUU9ySKu2y9

atom as permitted by the normal oxidation number,
i.e.,, —2 normal oxide may be acidic, basic, amphoteric
or neutral.

(b) Polyoxides : The oxides which contain oxygen
atoms different than those permitted by the normal
oxidation number of — 2.

(i) Peroxides : Two oxygen atoms are linked to each
other and oxyegen has —1 oxidation number. They
contain (O — 0)*~ unit.

(i) Superoxodes : These oxides contain (O — O) "
unit, i.e., each O-atom has oxidation number —1 /2.

(c) Suboxides : These contain low content of oxygen
than expected.

(d) Mixed oxides : These oxides are made of two


https://dl.doubtnut.com/l/_KJUU9ySKu2y9

simpler oxides.

Which of the following pairs contains neutral oxides ?

A. 50, SO3

C.CO, NO

D. Na,O, CaO

Answer: C

o Watch Video Solution

16. The binary compounds of oxygen with other

elements are called oxides. They are classified


https://dl.doubtnut.com/l/_KJUU9ySKu2y9
https://dl.doubtnut.com/l/_NlbW9P4pNkpL

depending either upon their acid-base characteristics
or on the basis of oxygen content.

(a) Normal oxides : These oxides which contain oxygen
atom as permitted by the normal oxidation number,
i.e.,, —2 normal oxide may be acidic, basic, amphoteric
or neutral.

(b) Polyoxides : The oxides which contain oxygen
atoms different than those permitted by the normal
oxidation number of — 2.

(i) Peroxides : Two oxygen atoms are linked to each
other and oxyegen has —1 oxidation number. They
contain (O — 0)®~ unit.

(i) Superoxodes : These oxides contain (O — O) "

unit, i.e., each O-atom has oxidation number —1 /2.

(c) Suboxides : These contain low content of oxygen


https://dl.doubtnut.com/l/_NlbW9P4pNkpL

than expected.

(d) Mixed oxides : These oxides are made of two

simpler oxides.

Which of the following pairs contains mixed oxides ?

A. Pb304, F6304

B. MnO5, BaO,

C. K02, N(L202

D. Mn304, N205

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_NlbW9P4pNkpL

17. The binary compounds of oxygen with other
elements are called oxides. They are classified
depending either upon their acid-base characteristics
or on the basis of oxygen content.

(a) Normal oxides : These oxides which contain oxygen
atom as permitted by the normal oxidation number,
i.e.,, —2 normal oxide may be acidic, basic, amphoteric
or neutral.

(b) Polyoxides : The oxides which contain oxygen
atoms different than those permitted by the normal
oxidation number of — 2.

(i) Peroxides : Two oxygen atoms are linked to each
other and oxyegen has —1 oxidation number. They

contain (O — 0)°~ unit.


https://dl.doubtnut.com/l/_gg5kb5A2FzUD

(ii) Superoxodes : These oxides contain (O — O)_1
unit, i.e., each O-atom has oxidation number —1 /2.

(c) Suboxides : These contain low content of oxygen
than expected.

(d) Mixed oxides : These oxides are made of two
simpler oxides.

Which of the following pairs contains amphoteric

oxides ?

A. BeO, BaO
B. BeO, AlQOg
C. Al203, P205

D. FeO, CuO

Answer: B


https://dl.doubtnut.com/l/_gg5kb5A2FzUD

° Watch Video Solution

18. The binary compounds of oxygen with other
elements are called oxides. They are classified
depending either upon their acid-base characteristics
or on the basis of oxygen content.

(@) Normal oxides : These oxides which contain oxygen
atom as permitted by the normal oxidation number,
i.e.,, —2 normal oxide may be acidic, basic, amphoteric
or neutral.

(b) Polyoxides : The oxides which contain oxygen
atoms different than those permitted by the normal
oxidation number of — 2.

(i) Peroxides : Two oxygen atoms are linked to each


https://dl.doubtnut.com/l/_gg5kb5A2FzUD
https://dl.doubtnut.com/l/_LNTfg3mnDpN1

other and oxyegen has —1 oxidation number. They
contain (O — 0)*” unit.

(i) Superoxodes : These oxides contain (O — O) "
unit, i.e., each O-atom has oxidation number —1 /2.

(c) Suboxides : These contain low content of oxygen
than expected.

(d) Mixed oxides : These oxides are made of two
simpler oxides.

Which of the following oxides is paramagnetic in

nature ?

A. KO,
B. BCLOQ

C. H,O


https://dl.doubtnut.com/l/_LNTfg3mnDpN1

D.CO,

Answer: A

o Watch Video Solution

19. Sulphur and rest of the elements of group 16 are
less electronegative than oxygen, Therefore, their
atoms cannot take electrons easily. They can acquire
ns’np® configuration by sharing two electrons with
the atoms of other elements and thus, exhibit + 2
oxidation state in their compounds. In addition to this,
their atoms have vacant d-orbitals in their valence

shell to which electrons can be promoted from the p


https://dl.doubtnut.com/l/_LNTfg3mnDpN1
https://dl.doubtnut.com/l/_u2Wncr0gnFFA

and s-orbitals of the same shell. As a result, they can
show 44 and + 6 oxidation states.
The oxidation state of of sulphur in Sg, SO3 and HyS
respectively are.

A0, +6, —2

B.+2, +6, —2

C.0, +4+2

D.—2, +6, +2

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_u2Wncr0gnFFA

20. Sulphur and rest of the elements of group 16 are
less electronegative than oxygen, Therefore, their
atoms cannot take electrons easily. They can acquire
ns’np® configuration by sharing two electrons with
the atoms of other elements and thus, exhibit + 2
oxidation state in their compounds. In addition to this,
their atoms have vacant d-orbitals in their valence
shell to which electrons can be promoted from the p
and s-orbitals of the same shell. As a result, they can
show 44 and + 6 oxidation states.

The oxidation state of sulphur in Nay5,04 is

A.2/3

B.3/2


https://dl.doubtnut.com/l/_XDRavghZAD2t

C.3/5

D.5/2

Answer: D

° Watch Video Solution

21. Sulphur and rest of the elements of group 16 are
less electronegative than oxygen, Therefore, their
atoms cannot take electrons easily. They can acquire
ns’np® configuration by sharing two electrons with
the atoms of other elements and thus, exhibit + 2
oxidation state in their compounds. In addition to this,

their atoms have vacant d-orbitals in their valence


https://dl.doubtnut.com/l/_XDRavghZAD2t
https://dl.doubtnut.com/l/_gHPXz5h2csol

shell to which electrons can be promoted from the p
and s-orbitals of the same shell. As a result, they can
show +4 and + 6 oxidation states.
The nature of the compounds of sulphur having +4
oxidation state is

A. Act as oxidising agents

B. Acts as reducing agents

C. Act as oxidising as well as reducing agents

D. Cannot be predicted

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_gHPXz5h2csol
https://dl.doubtnut.com/l/_fD7S9JnCQqiN

22. Sulphur and rest of the elements of group 16 are
less electronegative than oxygen, Therefore, their
atoms cannot take electrons easily. They can acquire
ns’np® configuration by sharing two electrons with
the atoms of other elements and thus, exhibit + 2
oxidation state in their compounds. In addition to this,
their atoms have vacant d-orbitals in their valence
shell to which electrons can be promoted from the p
and s-orbitals of the same shell. As a result, they can
show +4 and + 6 oxidation states.

Like sulphur, oxygen does not show 44 and +6

oxidation states. The reason is

A. That oxygen is a gas while sulphur is a solid


https://dl.doubtnut.com/l/_fD7S9JnCQqiN

B. That oxygen has high ionisatio enthalpies in

comparison to sulphur

C.That oxygen has high electron affinity in

comparison to sulphur

D. That oxygen has no d-orbitals in its valence shell.

Answer: D

o Watch Video Solution

23. Sulphur and rest of the elements of group 16 are
less electronegative than oxygen, Therefore, their

atoms cannot take electrons easily. They can acquire


https://dl.doubtnut.com/l/_fD7S9JnCQqiN
https://dl.doubtnut.com/l/_sKoU3ajlw0fJ

ns’np® configuration by sharing two electrons with
the atoms of other elements and thus, exhibit +2
oxidation state in their compounds. In addition to this,
their atoms have vacant d-orbitals in their valence
shell to which electrons can be promoted from the p
and s-orbitals of the same shell. As a result, they can
show 44 and + 6 oxidation states.

Oxygen exhibits + 2 oxidation state in

A. H,O
B. OF,
c.Cl,0

D. H,0,

Answer: B


https://dl.doubtnut.com/l/_sKoU3ajlw0fJ

° Watch Video Solution

Exercises Multiple Correct

1. Oxygen has — 1 oxidation state in the compound.

A. Caro's acid

B. Marshall's acid

C. Ba02

D. K,O

Answer: A::B::C

o Watch Video Solution



https://dl.doubtnut.com/l/_sKoU3ajlw0fJ
https://dl.doubtnut.com/l/_u8wh9i1imqmb

2. Oxygen has — 2 oxidation state in the compound

A. M gO

B. F,0

C. NCLzO

D. H,O,

Answer: A::C

° Watch Video Solution

3. Solid SeO3 (selenium trioxide) and TeO; exist

respectively as


https://dl.doubtnut.com/l/_u8wh9i1imqmb
https://dl.doubtnut.com/l/_87LHutia3ywY
https://dl.doubtnut.com/l/_KXGrUx2s0sxW

A. Cyclic trimer

B. Cyclic tetramer

C. Chain structure

D. Three dimensional net work structure.

Answer: B::D

° Watch Video Solution

4. Which among the following are peroxo acid of

sulphur ?

A. H,S04

B. H,SO:


https://dl.doubtnut.com/l/_KXGrUx2s0sxW
https://dl.doubtnut.com/l/_8k6p6xFqKa0d

C. H2S2O8

D. H, 50,

Answer: B::C

° Watch Video Solution

5. Select the correct statements about oxygen

molecule.

A. It is paramagnetic

B. Its bond order is two

C. Its liquid state it is colourless

D. It has two unpaired electrons


https://dl.doubtnut.com/l/_8k6p6xFqKa0d
https://dl.doubtnut.com/l/_TyrILjbj6UGG

Answer: A::B::D

o Watch Video Solution

6. S0, acts as

A. Bleaching agent

B. Oxidising agent

C. Reducing agent

D. Dehydrating agent

Answer: A::B::C

° Watch Video Solution



https://dl.doubtnut.com/l/_TyrILjbj6UGG
https://dl.doubtnut.com/l/_RRn1cNh5PmwV

7.Sulphuric acid can be used as.

A. Hygroscopic agent

B. Oxidising agent

C. Sulphonating agent

D. Efflorescent

Answer: A::B::C

° Watch Video Solution

8. SFy and SFy involves hybridisation of the type

and __ respectively.


https://dl.doubtnut.com/l/_r1YsKnVQJjbi
https://dl.doubtnut.com/l/_3FoeFMDFEryn

Answer: B::C

° Watch Video Solution

9. Select the correct

N(ZzSzOg. 5H20

A. It is called as hypo

statements

aboyt


https://dl.doubtnut.com/l/_3FoeFMDFEryn
https://dl.doubtnut.com/l/_xsUg6PLTBXg4

B. It is used in photography to form complex with

AgBr

C. It can be used as antichlor

D. It is used to remove stains of I.

Answer: A::B::C::D

° Watch Video Solution

10. Which of the following are amphoteric ?

A. BeO

B. Al,O3


https://dl.doubtnut.com/l/_xsUg6PLTBXg4
https://dl.doubtnut.com/l/_zSBCrDtPJKg3

C. ZnO

D. SO,

Answer: A::B::C

° Watch Video Solution

11. Which reagent does not give oxygen as one of the
products during oxidation with ozone ?

A. SO,

B.SnCl, /HCI

C.Hy,S

D. PbS


https://dl.doubtnut.com/l/_zSBCrDtPJKg3
https://dl.doubtnut.com/l/_I7OvTFRGKZlI

Answer: A::B

o Watch Video Solution

12. In which of the following S — S link is present ?

A. Caro's acid
B. Dithionic acid
C. Thiosulphuric acid

D. Chlorosulphonic acid

Answer: B::C

° Watch Video Solution



https://dl.doubtnut.com/l/_I7OvTFRGKZlI
https://dl.doubtnut.com/l/_oXfP5T8uy2OA

13. Sulphur is sp? hybridised in

A. SO;
B. 5O,
C.CO,

D.CO

Answer: A::B

° Watch Video Solution

14. In its compounds, oxygen can show oxidation state

(s) of


https://dl.doubtnut.com/l/_xGNWRGVTYlMv
https://dl.doubtnut.com/l/_zY3TOWT4xUDu

Answer: A::B::D

o Watch Video Solution

Exercises Single Correct

1. The crown structure is possessed by

A. Phosphorous


https://dl.doubtnut.com/l/_zY3TOWT4xUDu
https://dl.doubtnut.com/l/_iwyK72lczw3W

B. Cyclo-octaring of sulphur

C. Cyclic trimer of SO;

D. Cyclic tetrameric form of SeO;

Answer: B

° Watch Video Solution

2. Which of the following bonds has the highest bond

energy?
AO-0
B.S—S

C. Se — Se


https://dl.doubtnut.com/l/_iwyK72lczw3W
https://dl.doubtnut.com/l/_hLAM6sscZd8g

D.Te —Te

Answer: B

o Watch Video Solution

3. Which one has the highest and lowest boiling point

?

A. H,0, H,S

B. HQO, HQSG

C. H,S, H,O

D. H2S, HzSG


https://dl.doubtnut.com/l/_hLAM6sscZd8g
https://dl.doubtnut.com/l/_V5GAtXfhCEfi

Answer: A

o Watch Video Solution

4. Which one of the following is strongest acid ?

A H,S

B. HQSC

C. H,O

D. H2T6

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_V5GAtXfhCEfi
https://dl.doubtnut.com/l/_g2DYF6DPZKCv

5. Which one has the lowest boiling point ?

A.H,O

B. HyS

C. HQSB

D. KNO;

Answer: B

° Watch Video Solution

6. Write properties to show anomalous behaviour of

oxygen.


https://dl.doubtnut.com/l/_rt6aGReSLSM5
https://dl.doubtnut.com/l/_CC5vs9ienBua

A. It is highly electronegative

B. Small atomic size

C. Non-availability of d-orbitals

D. All

Answer: D

° Watch Video Solution

7. Which of the following is chalcogen ?

A.O

B.S


https://dl.doubtnut.com/l/_CC5vs9ienBua
https://dl.doubtnut.com/l/_ERtA01p8LM7b

C.Se

D. All

Answer: D

° Watch Video Solution

8. Which of the following componds does not evolve

oxygen when heated alone ?

A. KClO4

B. KM’I’LO4

C. NH,NO,

D. KNO;


https://dl.doubtnut.com/l/_ERtA01p8LM7b
https://dl.doubtnut.com/l/_IHVY7TGIsBOu

Answer: C

o Watch Video Solution

9. Which show maximum catenation property ?

A. Se

B. Te

C.Po

D.S

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_IHVY7TGIsBOu
https://dl.doubtnut.com/l/_yjcz0lZvkMXx

10. SO, and Sos involve hybridisation of the type

A. Both sp?
B. Both sp3
C. spz, sp3

D. sp3, sp2

Answer: A

° Watch Video Solution

11. Basicity of sulphurous acid and sulphuric acid are

A 2,2


https://dl.doubtnut.com/l/_bFIVvdhNJLm2
https://dl.doubtnut.com/l/_GYtEEeofmEJS

B.1,2

c.2,1

D. 1,1

Answer: A

° Watch Video Solution

12. When oxygen is passed through a solution of

Nay50s3, we get

A. Na25

B. Na2504

C. NCI,HSO4


https://dl.doubtnut.com/l/_GYtEEeofmEJS
https://dl.doubtnut.com/l/_j9nM13bSTmRz

D. NaH

Answer: B

o Watch Video Solution

13. Which has greater reactivity

A. TeCl6

B. SFy

C. TGFG

D. SeF6

Answer: B

f


https://dl.doubtnut.com/l/_j9nM13bSTmRz
https://dl.doubtnut.com/l/_q93vDvFSNepn

l o Watch Video Solution

14.Sulphate ion has __ geometry

A. Pyramidal

B. Tetrahedral

C. Square planar

D. See-saw

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_q93vDvFSNepn
https://dl.doubtnut.com/l/_nAiI6PYw8TdS

15. Structure of T'eCl, is

A. Octahedral

B. Square planar

C. Trigonal bipyramidal

D. Tetrahedral

Answer: C

° Watch Video Solution

16. Which of the following is not known ?

A. SF


https://dl.doubtnut.com/l/_4QNUxl8ljCTR
https://dl.doubtnut.com/l/_VjHb3DVCMzFW

B. SCl

C.SF,

D. SCI,

Answer: B

° Watch Video Solution

17. SO; exists in

A. 3 forms

B. 2 forms

C.4 forms


https://dl.doubtnut.com/l/_VjHb3DVCMzFW
https://dl.doubtnut.com/l/_1T1vE9ZUMrJW

D. Only one

Answer: A

° Watch Video Solution

18. H,503 and H,S0, involve hybridisation of the
type

A.Both sp®

B. Both sp’d

C.sp’, sp’d

D. Both dsp?


https://dl.doubtnut.com/l/_1T1vE9ZUMrJW
https://dl.doubtnut.com/l/_Swe9i6b7LKcM

Answer: A

° Watch Video Solution

19. Choose the correct answer from the options given

below: The catalyst used in the Contact Process is :

A. Platinised asbestos (Badiche process)

B. Vanadium pentaoxide

C. Finely divided platinum deposited on magnesium

sulphate (Grillo process)

D. All

Answer: D


https://dl.doubtnut.com/l/_Swe9i6b7LKcM
https://dl.doubtnut.com/l/_BKeZNNuFQJR2

° Watch Video Solution

20. In contact process impurities of arsenic is removed
by

A. Al(OH)3

B. Gelatious Fe(OH),

C.Cr(OH),

D. F6203

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_BKeZNNuFQJR2
https://dl.doubtnut.com/l/_50Dw5aH1Rl3u
https://dl.doubtnut.com/l/_ev6Y9X2fqrZi

21. Sulphuric acid has great affinity for water because it

A. Decomposes water

B. Forms hydrate with water

C. Hydrolyse the acid

D. Decomposes the acid

Answer: B

° Watch Video Solution

22. High density and low volatility of H, 5Oy is due to

A. Strong bonds


https://dl.doubtnut.com/l/_ev6Y9X2fqrZi
https://dl.doubtnut.com/l/_k9WtcMoWHIDX

B. van der Waals force

C. Hydrogen bonding

D. None

Answer: C

° Watch Video Solution

23.Conc. H5 50, is not a

A. Dehydration agent

B. Hygroscopic

C. Oxidising agent


https://dl.doubtnut.com/l/_k9WtcMoWHIDX
https://dl.doubtnut.com/l/_HFmTQ0ubd8n4

D. Efflorescent

Answer: D

o Watch Video Solution

24. In the following reaction, H,S50, acts as
H>504
HCOOH — CO + H,0.
A. Dehydrating agent
B. Oxidising agent
C. Reducing agent

D. All


https://dl.doubtnut.com/l/_HFmTQ0ubd8n4
https://dl.doubtnut.com/l/_z8vzmFvegPjz

Answer: A

o Watch Video Solution

25. Oxalic acid when heated with conc. Hy SO, it gives

out

A. H,O and CO,

B. Oxalic sulphate

C. COQ and HQS

D.CO and CO,

Answer: D

I O Watch Video Solution


https://dl.doubtnut.com/l/_z8vzmFvegPjz
https://dl.doubtnut.com/l/_82aFJH2K33uA

26. In the following reaction, H,50, acts as

2Ag + HQSO4 — AgQSO4 + 2H20 + 502

A.Reducing agent

B. Oxidising agent

C. Catalytic agent

D. Dehydration agent

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_82aFJH2K33uA
https://dl.doubtnut.com/l/_C2K2EhZ2r92x

27. A boy accidently splashes a few drops of

conc. HySO4 on his cotton shirt and splashed part

blackens and holes appears. This is because the

sulphuric acid

A. Heats up the cotton so that it burns

B. Dehydrates the cotton

C. Causes the cotton to react with oxygen in air

D. Removes the elements of water from cotton.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Dt0q3MY3H26s
https://dl.doubtnut.com/l/_cvmiZpcqKJ6b

28. Various impurities present in contact process are

sulphur or pyrite dust, arsenious oxide arid sulphuric

acid fog. They poison the catalyst. Dust impurities are

removed in dusting tower by

A. By blowing steam to remove dust particle

B. By cottrell precipitators

C. By cooling the gases

D. All

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_cvmiZpcqKJ6b

29. Sodium thiosulphate is used in photography

because of its:

A. Complexing ability

B. Solubility in water

C. Reducing behaviour

D. Sensitivity to light

Answer: A

° Watch Video Solution

30. In dry batteries the depolariser is


https://dl.doubtnut.com/l/_7oEuADXqfI67
https://dl.doubtnut.com/l/_7vT87dm0mINg

A. HgO

B. M’I’LOz

c. NH,Cl

D. ZnO

Answer: B

° Watch Video Solution

31. Caro's and Marshall'a acid does not react with

AS

B. KMnQO,


https://dl.doubtnut.com/l/_7vT87dm0mINg
https://dl.doubtnut.com/l/_K0EqDa4RQMYl

C.KI

D. H,O

Answer: B

° Watch Video Solution

32. Sulphur dioxide is obtained by the action of dilute

H>,S50, on:

A. Copper turning

B. Sodium sulphate

C. Sodium sulphite

D. Sodium sulphide


https://dl.doubtnut.com/l/_K0EqDa4RQMYl
https://dl.doubtnut.com/l/_muDUzi7CPcXH

Answer: C

o Watch Video Solution

33. Moist iodine reacts with ozone to form.

A HI

B. 1,05

C. HIO,

D.HIO,

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_muDUzi7CPcXH
https://dl.doubtnut.com/l/_GI1oBoLYRjLr

34. The ratio of the gases obtained on dehydration of

HCOOH and HyC504 by conc. Hy SOy is

A.2:1

B.1:2

C.3:1

D.1:3

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_sEB9Zcwp2DF9

35.The product A in the following reaction is :

2KMTI,O4 — A+ M’I’LOg + 02

A K2Mn207

B. KgM’I’LO4

C. K,0

D. K50,

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_7seP1VDmT1eF

36. The gases respectively absorbed

pyrogallol and oil of cinnamon are

A.O;3,CH,

B. SO,, CH,

C.0,, O4

D. N,O, O,

Answer: C

by alkaline

o Watch Video Solution

37.Ordinary oxygen contains.


https://dl.doubtnut.com/l/_tdquF5AMSn9N
https://dl.doubtnut.com/l/_R0o3J46DFg1X

A. A mixture of O'%, O'" and O*®
B. A mixture of 0% and O'7
C.Only O*°

D. Only O'®

Answer: A

° Watch Video Solution

38. Anhydride of sulphuric acid is SOs.

A. 50,

B. SO;


https://dl.doubtnut.com/l/_R0o3J46DFg1X
https://dl.doubtnut.com/l/_rYgxMy4v1GBK

C. H25203

D. H,50;

Answer: B

° Watch Video Solution

39. Sulphuric acid is a dibasic acid in nature, hence it

forms

A. Acidic salt

B. Acidic and basic salt

C. Acidic and normal salt

D. Double salt


https://dl.doubtnut.com/l/_rYgxMy4v1GBK
https://dl.doubtnut.com/l/_johvzS6h6CLf

Answer: C

o Watch Video Solution

40. When SO, is passed through a solution of HyS in

water :

A. Sulphuric acid is formed

B. A clear solution is formed

C. Sulphur acid is precipitated

D. No change is observed

Answer: C

[ O Watch Video Solution


https://dl.doubtnut.com/l/_johvzS6h6CLf
https://dl.doubtnut.com/l/_PL03Vc4IAPFs

41. A considerable part of the harmful ultraviolet
radiation of the sun does not reach the surface of
earth. This is because in the upper atmosphere, there

is a layer of

A. Os

B.CO,

C.NH;

D. H,

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_PL03Vc4IAPFs
https://dl.doubtnut.com/l/_ri3Hm3BYjneH

42, SFy is unreactive towards water because

A. Sulphur has very small size

B. Fluorine is most electronegative element

C. Sulphur shows 4 6 oxidation state

D. Due to steric hindrance, molecule cannot attack

S-atom.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ri3Hm3BYjneH
https://dl.doubtnut.com/l/_SVsUpLTX6wpR

43. [X]|+ H,S04 — [Y], a colourless gas with

irritating smell and

Y] + KsCry07 + Hy SOy —  Green  solution  [X]
and[Y ] are, respectively -

A.CI® . HCI

B. 503_ y SOQ

c.S%*, H,S

D.CO; , CO,

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_oRcGuUYR86Qn
https://dl.doubtnut.com/l/_VXgTYXvl7pXA

44. The catalyst used in the manufacture of sulphuric

acid by contact process is:

A. Platinum

B. N3

C. Fe

D.NO

Answer: A

° Watch Video Solution

45, Oleaum is


https://dl.doubtnut.com/l/_VXgTYXvl7pXA
https://dl.doubtnut.com/l/_c3RgybDJ521M

A. A mixture of conc. H,50, and oil

B. Sulphuric acid saturated with SO;

C. A mixture of Hy,S0, and HNO;

D. A mixture of H,SO,4 and HCI.

Answer: B

° Watch Video Solution

46. Ozone reacts with K, Fe(CN), to form

A. F€203

B. Fe(OH),


https://dl.doubtnut.com/l/_c3RgybDJ521M
https://dl.doubtnut.com/l/_GXMuDdNnIEZO

C. Fe(OH),

D. K3Fe(C'N)6

Answer: D

° Watch Video Solution

47.Bleaching action of SO, is due to

A. Reduction

B. Oxidation

C. Its acidic nature

D. Hydrolysis



https://dl.doubtnut.com/l/_GXMuDdNnIEZO
https://dl.doubtnut.com/l/_7atWezoJJ94Q

Answer: A

° Watch Video Solution

48. Which of the following statements is wrong ?

A. 50, dissolves in water and forms sulphurous

acid

B. SO, acts as a bleaching agent

C. SO, has pungent odour

D. SO; acts only as oxidising agent

Answer: D



https://dl.doubtnut.com/l/_7atWezoJJ94Q
https://dl.doubtnut.com/l/_sW16qXyLKCZw

| = Vvaldn vVidCO S0IUtion ]

49. About H5 S0y, which of the following statements is

incorrect ?

A. It acts as a reducing agent

B. It acts as an oxidising agent

C. It acts as a dehydrating agent

D. It is highly viscous

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_sW16qXyLKCZw
https://dl.doubtnut.com/l/_Wijw8c9g7jn1

50. Which one of the following is wrong ?

A. Oxygen and sulphur belong to the same group

of periodic table

B. Oxygen is a gas while sulphur is solid

C.Both oxygen and sunphur show +2, + 4 and

-+ 6 oxidation states.

D. H,S has no hydrogen bonding

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_3aHI0123B9fl

51. Which one of the following is not true peroxide ?

A. PbO,

B. B&Oz

C. Na202

D. H,0,

Answer: A

° Watch Video Solution

52. Which of the following oxides exists as trigonal

planar molecule in gaseous state and a cyclic trimer in


https://dl.doubtnut.com/l/_iYuWH4Jvq2Xt
https://dl.doubtnut.com/l/_StuJjrRQa8uy

the solid state ?

A. SO,

B. 5eCO,

C. 5603

D. SO;

Answer: D

° Watch Video Solution

53. Which of the following acts as pickling agent ?

A HNO;


https://dl.doubtnut.com/l/_StuJjrRQa8uy
https://dl.doubtnut.com/l/_wn0MwzTUN9nE

B. H,S0,

C.HCI

D. HNO,

Answer: B

° Watch Video Solution

54. Non-metals combine with oxygen to form usually

A. Basic oxides

B. Neutral oxides

C. Acidic oxides


https://dl.doubtnut.com/l/_wn0MwzTUN9nE
https://dl.doubtnut.com/l/_zdpQ1lK5HOXh

D. Amphoteric oxides

Answer: C

o Watch Video Solution

55. Which one of the following is an amphoteric oxide

?

A. M’TLOQ

B. ZnO

C.Cao

D.CO,


https://dl.doubtnut.com/l/_zdpQ1lK5HOXh
https://dl.doubtnut.com/l/_XZeuD2pRtY2i

Answer: B

° Watch Video Solution

56. How is ozone formed in the upper atmosphere?
State its importance. What is responsible for its
depletion ? Write one harmful effect of ozone
depletion.
A.By action of electric discharge on oxygen
molecules

B. By action of ultraviolet rays on oxygen molecules

C. By action of infrared rays on oxygen molecules


https://dl.doubtnut.com/l/_XZeuD2pRtY2i
https://dl.doubtnut.com/l/_8Iz4mCqAOL47

D. Due to sudden drop of pressure.

Answer: B

o Watch Video Solution

57.On heating ozone, its volume.

A. Increase to 1.5 times

B. Decreases to half

C. Remain uncharged

D. Becomes double

Answer: A



https://dl.doubtnut.com/l/_8Iz4mCqAOL47
https://dl.doubtnut.com/l/_6HUIPorS78IQ

l o Watch Video Solution

58. Which requires catalyst ?

A.S+ Oy — SO

B. 2502 + 02 — 2503

C.C+02 — COQ

D. All of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_6HUIPorS78IQ
https://dl.doubtnut.com/l/_dxxJZXIU0h1K

59. In the reaction,

2KT + HyO + O3 — 2KOH + O, + A

The compound A is

A. KIO;

B. 1,05

C. HIO;

D. I,

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_gEycTbytXENy

60. Sulphur does not exist as S, molecule because

A. It is less electronegative

B. It has ability to exhibit catenation

C. It is not able to constitute pm — pm bond

D. It has the tendency to show variable oxidation

states.

Answer: C

° Watch Video Solution

61. Excess of PCl; reacts with conc. H, SO, gives


https://dl.doubtnut.com/l/_yZ7s1FmJhb1C
https://dl.doubtnut.com/l/_52I2HSNd7iQL

A. Sulphuryl chloride

B. Sulphurous acid

C. Chlorosulphonic acid

D. Thionyl cloride

Answer: A

° Watch Video Solution

62. The element evolving two different gases on

reaction with conc. H,SO;,.

A P

B.C


https://dl.doubtnut.com/l/_52I2HSNd7iQL
https://dl.doubtnut.com/l/_t2P6iDcguwQF

C.Hg

D.S

Answer: B

o Watch Video Solution

63. Define Rancidity. Give two measures to prevent it.

° Watch Video Solution

64. The correct order of the O-O bond length in

02, H202 and 03 is


https://dl.doubtnut.com/l/_t2P6iDcguwQF
https://dl.doubtnut.com/l/_Deb8hFqMAqJf
https://dl.doubtnut.com/l/_uVAdU0PN1hTb

A.O3 > Hy0O5 > O5

B.Oy > Hy0O9 > O3

C.0O9 > O3 > H50,

D. H Oy > O3 > Oy

Answer: D

° Watch Video Solution

65. Which of the following is not correct ?

Sileny electric

Discharge


https://dl.doubtnut.com/l/_uVAdU0PN1hTb
https://dl.doubtnut.com/l/_vFh4Od5m9t6o

B.Ozone undergoes addition reaction with

unsaturated carbon compounds

C.Sodium thiosulphate reacts with I, to form

sodium tetrathionate and sodium iodide.

D. Ozone oxidises lead sulphide to lead sulphate

Answer: A

o Watch Video Solution

66. The number of sigma and pi bonds in

peroxydisulphuric acid are, respectively.

A.9and 4


https://dl.doubtnut.com/l/_vFh4Od5m9t6o
https://dl.doubtnut.com/l/_4JyRKgzpnd1B

B.11and 4

C.4 and 8

D.4 and 9

Answer: B

° Watch Video Solution

67. Tailing of mercury test can be used for which of the

following gas ?

A. Dioxygen

B. Dihydrogen

C. Dinitrogen


https://dl.doubtnut.com/l/_4JyRKgzpnd1B
https://dl.doubtnut.com/l/_z22qd08XhD3E

D. Ozone

Answer: D

o Watch Video Solution

68. Which of the following solutions does not change

its colour on passing ozone through it ?

A. Starch iodide solution

B. Alcoholic solidium of benzidine

C. Acidic solution of FeSO,

D. Acidified solution of K;Cr,0;


https://dl.doubtnut.com/l/_z22qd08XhD3E
https://dl.doubtnut.com/l/_L1osQxEn5PVy

Answer: C

o Watch Video Solution

69. The function of Fe(OH), in the contact process is

A. To detect colloidal impurity
B. To remove moisture
C. To remove dust particles

D. To remove arsenic impurity

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_L1osQxEn5PVy
https://dl.doubtnut.com/l/_UW86toGIO4Gv

70.The acid used in lead storage cells is

A. Phosphoric acid

B. Nitric acid

C. Hydrochloric acid

D. Sulphuric acid

Answer: D

° Watch Video Solution

71. Hydrolysis of one mole of peroxodisulphuric acid

produces


https://dl.doubtnut.com/l/_85n9962GTz5X
https://dl.doubtnut.com/l/_LFbHnM9rR01r

A. Two moles of sulphuric acid

B. Two moles of peroxymonosulphuric acid

C.One mole of sulphuric acid, one mole of

peroxymonosulphuric acid.

D.One mole of sulphuric acid, one mole of

peroxymono-sulphuric acid and one mole of

hydrogen peroxide.

Answer: C

° Watch Video Solution

72. All the elements of oxygen family are


https://dl.doubtnut.com/l/_LFbHnM9rR01r
https://dl.doubtnut.com/l/_5COCG8hz6MQ2

A. Non-metals

B. Metalloids

C. Radioactive

D. Polymorphic

Answer: D

° Watch Video Solution

73. When an inorganic compound reacts with SO, in
aqueous medium produces (A). (A) on reaction with
Na,COj3 gives the compound (B) which with sulphur
gives a substance (C) used in photography. The

compound (C) is.


https://dl.doubtnut.com/l/_5COCG8hz6MQ2
https://dl.doubtnut.com/l/_6bBC7HldQoQX

A. Naz 5203

B. NG,QSO4

C. Na25

D. Na25'207

Answer: A

° Watch Video Solution

74.0zone is used for purifying water because

A. It dissociates and release oxygen

B. It does not leave any foul smell like chlorine


https://dl.doubtnut.com/l/_6bBC7HldQoQX
https://dl.doubtnut.com/l/_dMz0DcHP9nOk

C. It kills bacteria, cyst, fungi and acts as a biocide

D. All of the above

Answer: D

° Watch Video Solution

75. Identify the correct order of increasing number of

m-bonds in structures of the following molecules.
(I)H3S506(I11)HySO5(111)H4S505

A.(I), (I1), (I11)

8. (I1), (I11), (I)

c. (IT), (I), (III)


https://dl.doubtnut.com/l/_dMz0DcHP9nOk
https://dl.doubtnut.com/l/_qQjyCq4Hclxx

p. (I), (IIT), (II)

Answer: B

o Watch Video Solution

76. Sulphur reacts with chlorine in 1:2 ratio and forms
X Hydrolysis of X gives a sulphur compound Y What
is the hybridisation state of central atom in the

compound .


https://dl.doubtnut.com/l/_qQjyCq4Hclxx
https://dl.doubtnut.com/l/_Zg74g87rg6AE

D. sp*d

Answer: B

o Watch Video Solution

77. Which gas is used to improve the atmosphere of

the crowded places ?

A. H,

B. O,

C.Os

D. N,O


https://dl.doubtnut.com/l/_Zg74g87rg6AE
https://dl.doubtnut.com/l/_arA897WujCIP

Answer: C

o Watch Video Solution

Exercises Integer

1. The number of unpaired electrons in the valence

shell of the members of oxygen familyis .

o Watch Video Solution

2. What is oxidation state of sulphur is Caro's acid ?

o Watch Video Solution



https://dl.doubtnut.com/l/_arA897WujCIP
https://dl.doubtnut.com/l/_sLyW49Ur4VF9
https://dl.doubtnut.com/l/_eLgnyJUyiM5K

3. How many orbitals are involved in the hybridisation

of sulphur in SCl5?

o Watch Video Solution

4. How many m — bonds are present in Marshall's acid

?

° Watch Video Solution

5. Ozone reacts with dry iodine to form an oxide

having  oxygen atoms in its molecules.

| |


https://dl.doubtnut.com/l/_eLgnyJUyiM5K
https://dl.doubtnut.com/l/_uipVXnlSjLYG
https://dl.doubtnut.com/l/_8Oz8ntHBQjKA
https://dl.doubtnut.com/l/_4b6ywYqU7jSH

[ W Watch Video Solution ]

6. How many lone pairs are present in OF5 molecule ?

o Watch Video Solution

7.What is the atomicity of S in sulphur in sulphate ion

?

o Watch Video Solution

8. What is the oxidation state of sulphur in sulphate

ion ?

| & ]


https://dl.doubtnut.com/l/_4b6ywYqU7jSH
https://dl.doubtnut.com/l/_xX69qK7jJG4c
https://dl.doubtnut.com/l/_t8WfwvCj4TRJ
https://dl.doubtnut.com/l/_yd47A06OfzeB

[ W Watch Video Solution J

9. How many S — S bonds are present in Sg molecule ?

o Watch Video Solution

10. Among the oxides gives below, how many are acidic

? CT’Og, M?’L2O7, CO, 502

o Watch Video Solution

11. In how many of the following species, S-atom is sp°

hybridised ?


https://dl.doubtnut.com/l/_yd47A06OfzeB
https://dl.doubtnut.com/l/_ZrnAyPhabEyS
https://dl.doubtnut.com/l/_YYReomUnetiy
https://dl.doubtnut.com/l/_LFOFAnp7PDAe

Ss, SO;~, 8O3, H,S, SCl,.

o Watch Video Solution

12. What is the number of o bonds present in

peroxodisulphuric acid ?

o Watch Video Solution

13. What is the bond order of O, molecule ?

° Watch Video Solution



https://dl.doubtnut.com/l/_LFOFAnp7PDAe
https://dl.doubtnut.com/l/_f5zHpjGwb7gG
https://dl.doubtnut.com/l/_ryxf2gtqsLbd

14. Conc. H,50, reacts with four moles of Ag to give

_moles of AgySO,.

° Watch Video Solution

Exercises Fill In The Blanks

1.In the preparation of Oy from KC10O3, MnO, act as

o Watch Video Solution

2.0zoneis an ___ of oxygen.


https://dl.doubtnut.com/l/_Ny1BnjZzvshC
https://dl.doubtnut.com/l/_bfAnO1ZMAqK6
https://dl.doubtnut.com/l/_GX6nQSjlS7vz

O Watch Video Solution

3. (a)iodine dissolves more in KI solution than in
water. Why?
(b) Colour of K1 solution containing starch turns deep

blue when chlorine water is added. Explain.

o Watch Video Solution

4. When S0, gas is passed through an acidified

solution of K,Cry07, the solution turns ___in colour.

° Watch Video Solution



https://dl.doubtnut.com/l/_GX6nQSjlS7vz
https://dl.doubtnut.com/l/_2LIcJ39sIg60
https://dl.doubtnut.com/l/_Ju7WdXFJHzrI
https://dl.doubtnut.com/l/_0RoD0X2dqACQ

5. The percentage of ozone in ozonised oxygen is

about

o Watch Video Solution

6. Poison for platinum, a catalyst in contact process of

H2 SO4 is .

° Watch Video Solution

7.Elements O, S, Se and T'e are usually known as___ .

o Watch Video Solution



https://dl.doubtnut.com/l/_0RoD0X2dqACQ
https://dl.doubtnut.com/l/_r5Yt01RT3SDf
https://dl.doubtnut.com/l/_cDJssaHj2bEs
https://dl.doubtnut.com/l/_ZqhMopPXMX9h

8. Sulphur in SFg undergoes _ hybridisations.

o Watch Video Solution

9. The most abundant element in earth's crust is

o Watch Video Solution

10. Oxygen was discovered by .

o Watch Video Solution

11. Bleaching action of SO, is due to


https://dl.doubtnut.com/l/_ZqhMopPXMX9h
https://dl.doubtnut.com/l/_T9JAsj6VmUnX
https://dl.doubtnut.com/l/_5qsXlzmkZkod
https://dl.doubtnut.com/l/_MpQiIs7PzPgG

° Watch Video Solution

12. H,50, is added while preparing a standard

solution of Mohr's salt to prevent .

o Watch Video Solution

13. Chalocogen used in vulcanisation of rubberis

° Watch Video Solution

14. _ is known as king of chemicals.

o Watch Video Solution



https://dl.doubtnut.com/l/_MpQiIs7PzPgG
https://dl.doubtnut.com/l/_bG4XwwtcpBKd
https://dl.doubtnut.com/l/_dLx5tIVBAOkt
https://dl.doubtnut.com/l/_KctNU012B9J1

15. Low volatile nature of sulphuric acid is due to _

o Watch Video Solution

16. The gas absorbed by oil of turpentine is__ .

o Watch Video Solution

17. The only element in group 16 elements, which is

definitely a metal is___ .

o Watch Video Solution



https://dl.doubtnut.com/l/_KctNU012B9J1
https://dl.doubtnut.com/l/_2rN8JXmUI589
https://dl.doubtnut.com/l/_0SAiqmiDNBzz
https://dl.doubtnut.com/l/_np6RakZEeOel

18. Sulphuric acidisa____acid .

o Watch Video Solution

19. Moist iodine reacts with ozone to form.

o Watch Video Solution

20. Compound of sulphur used in

transformer is _

electrical

o Watch Video Solution



https://dl.doubtnut.com/l/_RILIGZvMSzLR
https://dl.doubtnut.com/l/_C9BZNCsUUare
https://dl.doubtnut.com/l/_ncoaII689DQL

21. Mixture of Oy and N, O is used as _

° Watch Video Solution

22. Oxygen exhibits positive oxidation state in

o Watch Video Solution

23. Six volumes of oxygen, on complete ozonisation

form volumes of ozone.

o Watch Video Solution



https://dl.doubtnut.com/l/_igB5RPnBnJP9
https://dl.doubtnut.com/l/_tEwSrIc5iowC
https://dl.doubtnut.com/l/_qldl5u3ewr93

24. Liquid oxygen is____in colour.

° Watch Video Solution

25. Addition of water to concentrated sulphuric acid is

an ___ reaction.

o Watch Video Solution

26. Vegetable colouring matter in presence of moisture

is bleached by SO, dueto .

o Watch Video Solution



https://dl.doubtnut.com/l/_lVrlsSlmpk7E
https://dl.doubtnut.com/l/_h1nN84l0GLiF
https://dl.doubtnut.com/l/_8yRziVIQyh3I

27. Solution of SO, in water in known as

° Watch Video Solution

28. Allotrope of sulphur which is stable below 90° C' is

o Watch Video Solution

29. Rhombic and monoclinic sulphur are

° Watch Video Solution



https://dl.doubtnut.com/l/_4sNWgluVwKBl
https://dl.doubtnut.com/l/_uiLc9QkvUpZX
https://dl.doubtnut.com/l/_yjfDKLUKoYLS

30. Number of o and 7 bonds present in sulphuric acid

molecule is and ___ respectively.

° Watch Video Solution

Exercises True False

1. Most stable allotropic form of sulphur is rhombic

sulphur. Explain

° Watch Video Solution



https://dl.doubtnut.com/l/_pJKoaQDCJd3V
https://dl.doubtnut.com/l/_IDb0yM6fEHWI

2. The percentage of ozone in ozonised oxygen

about 80 % .

° Watch Video Solution

3. Anhydride of sulphuric acid is

o Watch Video Solution

4. Oxyegn molecule is diamagnetic.

o Watch Video Solution



https://dl.doubtnut.com/l/_3cFwThB6kqyD
https://dl.doubtnut.com/l/_bcYeFwfl85pk
https://dl.doubtnut.com/l/_H0tXxLa79Cjp

5. Explain why:

Mercury loses its meniscus in contact with ozone.

° Watch Video Solution

6. Ozone is obtained by silent electric discharge on

oxygen.

° Watch Video Solution

7. In sulphite ion, the oxidation state of sulphur is +4

and S'is sp® hybridised.

° Watch Video Solution



https://dl.doubtnut.com/l/_xKLMb6yFMltU
https://dl.doubtnut.com/l/_ty7B9MnA4sQw
https://dl.doubtnut.com/l/_YEEKm4rbQxu2

8. Acid used in lead storage battery is sulphuric acid.

Explain.

° Watch Video Solution

9. The reaction of HCOOH with conc. Hy,50, gives :

° Watch Video Solution

10. Generally H;O exists as a liquid due to

intermolecular hydrogen bonding.

° Watch Video Solution



https://dl.doubtnut.com/l/_YEEKm4rbQxu2
https://dl.doubtnut.com/l/_QtBbxMV4mP72
https://dl.doubtnut.com/l/_rRfSqLXHEOSB
https://dl.doubtnut.com/l/_e6HjBFwNZmgC

11. Ozone belongs to group 16 of the periodic table.

° Watch Video Solution

12. All the elements of the oxygen family are

radioactive. (T/F)

° Watch Video Solution

13. Oxygen exists as a gas, while sulphur exists as a

solid Why ?

° Watch Video Solution



https://dl.doubtnut.com/l/_e6HjBFwNZmgC
https://dl.doubtnut.com/l/_CZaA0qcgxacF
https://dl.doubtnut.com/l/_rS4VwDOreFw1
https://dl.doubtnut.com/l/_iOPSNxD3Nm1g

14. Sulphur is the second most electronegative

element in the periodic table.

o Watch Video Solution

15. What is the atomicity of Sulphur molecule.

° Watch Video Solution

Archives Multiple Correct



https://dl.doubtnut.com/l/_iOPSNxD3Nm1g
https://dl.doubtnut.com/l/_B7PMls2gkutb
https://dl.doubtnut.com/l/_xam1ZXlJno4c

1. The pair(s) of reagents that yield paramagnetic

species is/are

A. Na and excess of NH;

B. K and excess of O,

C. C'u and dilute HNOs

D. O, and 2-ethylanthraquinol

Answer: A::B::C

o Watch Video Solution

Archives Single Correct


https://dl.doubtnut.com/l/_UFbzlzAkdQD9
https://dl.doubtnut.com/l/_nhcD4lqqSwEB

1. The oxide that gives HyO, on treatment with a

dilute sulfuric acid is

A. PbO,

B. Na202

C. M’I’LOz

D. T%0,

Answer: B

° Watch Video Solution

2.Thereisno S — Sbondin.


https://dl.doubtnut.com/l/_nhcD4lqqSwEB
https://dl.doubtnut.com/l/_lviDlXryNxax

A S,0%~
B. S,0%~
C. $,05~

D. S,0%"

Answer: D

° Watch Video Solution

3. The oxidation states of the most electronegative

elements in the products of the reaction between

BaO, and H,S50, are

A.0and —1


https://dl.doubtnut.com/l/_lviDlXryNxax
https://dl.doubtnut.com/l/_V4BUjp46pNS4

B.—1and —2

C.—2and0
D.—2and —1
Answer: D

° Watch Video Solution

4.The species that do not contain peroxide ions is

A. PbO,

B. H202

C. S’l"Og


https://dl.doubtnut.com/l/_V4BUjp46pNS4
https://dl.doubtnut.com/l/_i8PgIG8IuE3s

D. B&Og

Answer: A

o Watch Video Solution

5. Hydrolysis of one mole of peroxodisulphuric acid

produces

A. 2mol. Of sulphuric acid.

B. 2mol. Of peroxomono sulphuric acid.

C.Imol. Of sulphuric acid and 1mol. Of

peroxomono sulphuric acid.


https://dl.doubtnut.com/l/_i8PgIG8IuE3s
https://dl.doubtnut.com/l/_L4RLvuFFlvWA

D. Imol. Of sulphuric acid, 1mol. Of peroxomono

sulphuric acid, and 1mol. Of hydrogen peroxide.

Answer: C

° Watch Video Solution

6. Which of the following oxides is neutral ?

A.CO

B. S’TLOQ

C. ZnO

D. Si0,


https://dl.doubtnut.com/l/_L4RLvuFFlvWA
https://dl.doubtnut.com/l/_CH0aMWaz4sA7

Answer: A

° Watch Video Solution

7.Which of the following has the highest boiling point

?

HQO, HQS, ste and H2T€

A. H,O because of hydrogen bonding.

B. HyT'e because of higher molecular weight.

C. HyS because of hydorgen bonding.

D. H,Se because of lower molecular weight.

Answer: A


https://dl.doubtnut.com/l/_CH0aMWaz4sA7
https://dl.doubtnut.com/l/_ErudZ2KeeO6q

° Watch Video Solution

8. The number of S -S bonds in sulphur trioxide trimer
[5309] is

A. three

B. two

C.one

D. zero

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ErudZ2KeeO6q
https://dl.doubtnut.com/l/_9cUHTYi7j8l6
https://dl.doubtnut.com/l/_QQP7MsxBQVQm

9. Which of the following will not be oxidised by O3 ?

A KI

B. F6504

C. KM’I’LO4

D. KQMTZO4

Answer: C

° Watch Video Solution

10. The species having pyramidal shape is :

A. SO;


https://dl.doubtnut.com/l/_QQP7MsxBQVQm
https://dl.doubtnut.com/l/_DDcb8qhlpD5X

B. BTFg
C. Si03~

D. OSF,

Answer: D

° Watch Video Solution

11. Which of the following does not give oxygen on
heating?

A. KQC’I"207

B. (NH4)2C’I"207

C. KClO;3


https://dl.doubtnut.com/l/_DDcb8qhlpD5X
https://dl.doubtnut.com/l/_sAWz35dHJDNO

D. Zn(C’lO3)2

Answer: B

o Watch Video Solution

Archives Integer

1. Among the following , the number of elements

showing only one non-zero oxidation state is:

O,C,F,N,P,Sn, Tl Na, Tt

o Watch Video Solution



https://dl.doubtnut.com/l/_sAWz35dHJDNO
https://dl.doubtnut.com/l/_PUAH1GliH7Po

2. The value of n in the molecular formula

BenAl2 S’L6 018 is ...

° Watch Video Solution

3. The difference in the oxidation numbers of two

types of sulphul atoms in Na, 5,0 is.....

° Watch Video Solution

4. A species having the formula XZ, is given below

: XeF _(4), Identify the shape.

° Watch Video Solution



https://dl.doubtnut.com/l/_ZxcAWaaPcTqE
https://dl.doubtnut.com/l/_ndFXvs5mrGSx
https://dl.doubtnut.com/l/_eFG4kzTogTyT

Archives Integer

1. Amongst the following, the total number of
compounds whose aqueous solution turns red litmus

paper blue is:

° Watch Video Solution

Archives Fill In The Blanks

1. The lead chamber process involves oxidation of SO,

by atomic oxygen under the influence of __as catalyst.



https://dl.doubtnut.com/l/_eFG4kzTogTyT
https://dl.doubtnut.com/l/_6pzmQn2ipvn9
https://dl.doubtnut.com/l/_dXpfMCA4zf4d

I o Watch Video Solution J

Archives Subjective

1. Water is a liquid, while HyS is a gas at ordinary

temperature. Explain.

o Watch Video Solution

2. (a) Sulphur melts form a clear mobile liquid at
119° C but on further heating to 180° C, it becomes

viscous. Why ?


https://dl.doubtnut.com/l/_dXpfMCA4zf4d
https://dl.doubtnut.com/l/_UfcRU81nFVGc
https://dl.doubtnut.com/l/_FsjxdsLE5A8z

(b) SOCI, can act as a weak Lewis acid as well as a

weak Lewis base. Explain.

o Watch Video Solution

3. What happens when hydrogen sulphide is bubbled

through an aqueous solution of sulphur dioxide.

o Watch Video Solution

4. Complete and balance the following reactions :

S+O0H® — 8,02 +.....

° Watch Video Solution



https://dl.doubtnut.com/l/_FsjxdsLE5A8z
https://dl.doubtnut.com/l/_4uxDBQISvcz3
https://dl.doubtnut.com/l/_wJmA3fz7xDZ3

5. Account for the following:
The valency of oxygen is generally 2, whereas sulfur

shows valency of 2,4 and 6.

° Watch Video Solution

6. Arrange the following as indicated.
COy, NyOs, S§i05 and SOj in the order of increasing

acidic character.

° Watch Video Solution



https://dl.doubtnut.com/l/_Xh1pqcLRnyj5
https://dl.doubtnut.com/l/_1uWLSd5oxXVd

7. Write two resonance structures of ozone which

satisfy the octet rule.

° Watch Video Solution

8. Sulphur is precipitated in the reaction of hydrogen

sulphide with sodium bisulphite solution.

° Watch Video Solution

9. Explain why, sulphur dioxide is a more powerful
reducing agent in the alkaline medium than in the

acidic medium.



https://dl.doubtnut.com/l/_ZmrZoerIOocs
https://dl.doubtnut.com/l/_8iJqrRinTWPr
https://dl.doubtnut.com/l/_lxk2aFzq5WoT

o Watch Video Solution

10. In the contact process for industrial manufacture of
sulphuric acid, some amount of sulphuric acid is used
a starting material. Explain briefly. What is the catalyst

used in the process?

o Watch Video Solution



https://dl.doubtnut.com/l/_lxk2aFzq5WoT
https://dl.doubtnut.com/l/_bdZ1ZlXXUiPZ

